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QUESTION 1

The DDL statement is used to create table T1: CREATE TABLEt1 (
c1 INTEGER,

c2 INTEGER NOT NULL,

c1 DECIMAL(11,2),

c4 TIMESTAMP WITH DEFAULT CURRENT TIMESTAMP

)

Which of the following INSERT statements will execute successfully?
A. INSERT INTO t1 VALUES (100)

B. INSERT INTO t1 (c1, c2) VALUES (100)

C. INSERT INTO t1 (c1, ¢3) VALUES (*100\\, “100.00\\")

D. INSERT INTO t1 (c2, c3) VALUES (100, 100.00), (101, 101)

Correct Answer: B

QUESTION 2

Which of the following is designed for continuous availability, increased throughput of many concurrent short queries,
and easy scalability?

A. DB2 HADR

B. DB2 pureScale

C. DB2 Express-C

D. DS2 Database Partitioning Feature

Correct Answer: B

QUESTION 3

Which of the following DB2 objects in an efficient way of representing data without the need to maintain it and requires
no permanent storage?

A. View
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B. Alias
C. Table
D. Schema

Correct Answer: A

QUESTION 4

Your manager has asked you to review cloud service offering for hosting a DB2 database. As the DBA, you still want to
maintain control over all maintenance and patching operations. Which of the following Cloud offerings best suits your
needs?

A. Cloudant

B. DB2 on Cloud

C. dashDB for analytics

D. dashDB for transactions

Correct Answer: B

QUESTION 5

Which of the following compatibility features is always active, regardless of the settings for the
DB2_COMPATIBILITY_VECTOR registry variable or the SQL_COMPAT global variable?

A. Implicit casting

B. Double-dot notation

C. Use of bitmap indexes

D. Selecting from the DUAL table

Correct Answer: D
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